Notes 3-1
Sec1 H Sequences and Recursive Equations

Unit 3

Warm-up:

Find the constant rate of change for the tables below.
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. Describe the pattern you see to the right. ; 6 (. € {/
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. What is the recursive equation (together as a class)?
PO = £01) +4 s £(0)= |

. Assuming the sequence continues in the same way, how many dots are there at 3 minutes?
How do you know?

. How many dots are there at 100 minutes? How do you know?
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. Use the information to create a table and a discrete graph.
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Growing, Growing Dots

1. Describe and label the pattern of change

you see in the above sequence of figures.

2. Write a recursive formula to describe
how many dots there will be after t
minutes.
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3. Assuming the sequence continues in the same way, how many dots are there at 5 minutes?

How do you know?

4. Use the information to create a table and a discrete graph.
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[ PRACTICE QUESTIONS: 2l — sk
1 —
' Term x 0 1 2 3 4 5 6 7
‘ o 14| )
Value f(x) '6\'1‘2_:,_;1 = 4\1‘94 9 “" 141 J,"{ & 1
a) What is the change for the sequence above? 3 9,
b) Is the sequence ITHMETl}I\ior GEOMETRIC?
c) Complete the table.
d) Write a’recursive equation for the table.
1= fx-1)e5 . Fo)= b
2.
Term x 1 2 3 4 5 6 7 8
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a) What is the change for the sequence above? e L’

b) Is the sequence ARITHMETIC GEOMETRIC?

c) Complete the table.

d) Write a recursive equation for the table.
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